BREMHRRETEHIE (FRMS) hik TH6E 12A 138 (&)

Frx

o & B &t E i = & b fE z B £ B

m B = R O%

() ART=®) (M) (M) (M) (kg)

WA 90.8 ERE 90.8 1,728 1,404 1,080 13] A L
IZALA 15.1 = I 2.8 1,836 1,836 1,404 0] A M
IZALA f = 1.3 1,404 — 1,296 10 L
ZIES5 5.1 BRE 4.7 — 383 — 1 A LL
[E<E0 89.8 BERE 83.9 1,620 1,620 1,512 15 A L
[E<E0LY N 4.1 — 864 - 15 va9 8
HTE 1.4 2 [ 1.1 - 1,512 - 4] yay L
ZEDOH 3.7 BERE 1.7 2,592 2,376 2,160 4f A M
Fry 100.5 ERE 83.5 1,836 1,836 1,728 0] A 8
Fry =0 15.0 1,836 — 1,728 10 8
IE5NAZES 2.0 BRE 0.9 3,240 — 3,024 4f A M
hE 10.8 BRE 6.4 1,836 1,620 1,404 3l A LL
hE X & 2.7 1,944 1,620 1,296 3l vay L
Ch¥ 1.0 i B 0.7 - 3,240 — 3 L
LwA=E< 0.5 BERE 0.2 - 3,240 — 4l A M
125 1.8 = I 1.0 5,400 4,860 4,590 5/ A M
+)L1)— 1.1 2 0.7 3,780 — 3,240 0] A M
T RINGHR 0.1
Hh)o257— 0.6 BRE 0.3 1,944 1,728 1,188 4 6
JOyal)— 7.9 BRE 6.0 — 2376 — 5/ A L
LAEX 32.6 BRE 12.7 3,564 — 1,264 10 12
LA E & 9.8 4644 4,104 3,780 10 12
FoFYA 1.2 BRE 0.4 — 2,160 — 4f A L
=p5Y 16.1 BRE 13.4 2,700 2,700 2,538 5/ A M
=p5Y ElG 20 2,808 - 2,484 5] A M
ANESSES) 6.5 BRE 5.4 — 3,564 — 0] A 7
Y 1.1 EES 0.8 2,851 — 2661 8
Y = A0 0.1 1,836 1,296 1,296 25| A M
k< 55 EES 2.9 356 324 194 0.5
e X & 2.2 — 194 — 0.5
I=kTh 3.0 BRE 15 227 194 194 02 A M
E—<> 6.6 BERE 6.1 6,480 5,508 4,968 7.8 A M
F—<> = I 0.2 — 100 — 0.13 A M
IZA5Y 0.1 = I 0.1 6,048 5,832 5616 6] A L
SPVAITFA 1.3 BRE 1.3 3,240 - 2916 2l A
SPZAES 0.7 BRE 0.7 — 1,620 — 1 A
MrAL& 101.1 BRE 100.2 1,836 1,296 432 5/ A M
IEhLs 31.9 E & 27.8 3,024 2916 2,808 10 vay LL
IEhiLs E 5 3,024 2916 2,484 10] A L
[ES AT JtiEE 4.1 — 2484 — 0] A LL
=L 1.6 BRE 1.6 3,240 3,240 1,296 5
hLE 49 JtiEE 45 4,536 — 4,320 10 A 3L
I-Fh=E 25.0 JtiEE 24.7 3,240 — 3,132 20 L
ELLVE=T 1.2 BRE - 108 — 0.1 Vi L
ELLV=IT =I5 0.8 162 162 140 0.1 A M
ZDEET 5.6 E I 2.8 65 65 59 0.1 A
ZDEET BRE 1.0 56 56 52 0.1 A
LHL 1.8 2 [ 1.8 130 116 116 0.2
S ER T 584.7
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BMAHMAEE 12.7
BAEM 12.7 N 5.9 3,672 3,240 3,024 10 L
BAEM E X 5,940 4644 4320 10 M
A B M B X 5,724 5,184 4,968 10 S
B4R BRE 3.0 3,780 3,780 3,024 10{ 74¥21 L
BAEM BRE 6,480 6,480 3,996 10{ 74¥2 M
BAEM BRE 6,480 — 3,996 10{ 74¥2 S
B 43 BRE 43 5,400 4,860 2,808 5[ 7hv1 L
LEY 2.9 i B 24 864 — 810 10 F17
INLUVT 0.4 = M 0.4 8,424 8,424 8,208 17 72
L7y = M - 6,480 — 15 48
SADMA 0.3 BERE 0.3 486 — 432 1] vay L
L5 3.3 BRE 3.3 4104 — 3,780 5 B 6L
HmohrAED 5.9 i B 3.0 3,456 — 3,240 10{ 7hv2 M
YATE 15.9
23 F3ILK 2.2 5 & 2.2 6,480 — 6,264 10{ 7hv2 36
AL 13.1 E e 5.0 - 4,320 — 10] wva 28
E# 0.1 5 7 0.1 5,832 — 5,400 10| FA
FRMYAZ 0.3 HF & 0.2 - 5,400 — 10l Y1 A 32
FEEAL 0.3 W 0.3 — 1,944 — 5| bya 10
WEET 9.0
=45 26 2 [ 26 1,188 — 1,080 5/ A M
ZTDHMENE 6.4
W5 1.5 BRE 0.8 864 594 594 025 A L
AOVEF 25
7—IJLR 25 EES 2.3 - 9,072 — 8l 7v LL
ERRYOY1s
ERAYA = % 8,640 — 8,100 10] Ly 5
INFF 12.9 EYEY 12.7 3,456 2,808 2,376 13
NAFyFTIL 3.4 EYEY 3.4 3,564 2376 2,376 10 8
FoA4T)LY 1.7 —oT 0.7 5,832 3,888 3,888 75 4
BERE 79.0




